Brooklyn Council & A
Go Kart Derby 2016 ‘%‘/%’

) ==
>
All Cub Scouts Welcome
Date: Saturday, May 14" 2016
Place: Floyd Bennett Field

Time: 9:00 AM — registration/check-in
Opening Ceremony begins at 10:00 AM

Cost: Pre-registered fee: $8.00 per Scout
Registering day of event fee: $10.00 per Scout

DECORATE YOUR CAR TO IMPRESS!!

Attached is a Cubmobile diagram, building instructions and a parts list that can be found in the
Bear Handbook. It gives a basic design for the building of a go kart. Also attached is the Brooklyn
Council Go Kart Guidelines. Please adhere to the basic guidelines when building your pack’s kart.

As long as the basic guidelines are followed you may build a go kart however you like.

(Every participating scout will receive an event patch. Trophies will be awarded to the winners)

$1.00 out of every fee paid goes to Friends of Scouting to help support
GNYC Scout Camps

To pre-register for the event, follow this link for payment: www.bsa-
gnyc.org/2016brooklyngokart Along with payment, we will need the following
information: Pack number, Key leader name, contact number and e-mail address,
additional attending leader names and number of Scouts attending. You will receive a
receipt upon payment. Please print it out and bring it with you on the day of the event

Deadline for online registration and discounted payment is: Thursday, May 12", 2016.

For further information and to volunteer to help, please contact:
Milton Davis, Breukelen District Activities Chairperson (917) 861-2055



How to Build a Cubmobile

7°-10" Dia. Wheels
Use solid rubber for
best results. Plastic dolly L
wheels cause spinouts '

[- Post- 2"x4"

Seat Back
8 3/4"x20"
3/8" Plywood

Square section
l} prevents tuming !

1 e o
I Carnage Bolt

! i Seat
J L.m_s —n 15" x20°
g o 38" Plywood -
n. e / ‘ Seat Belts
a |- ¢ uy REQUIRED
! Machine Bolt =

Use these type fasteners.
NAILS WILL NOT HOLD

Lag
Axle Screw
|
+ Frame 2" x4’ ,-I 101 I
52" Long 3 ;” QQQ

W\

<J |
N !}

X Steering Flat —J LF'M
|  Bride  Washer Washer

Flat — — Use satet

S ‘ y

Washer ( \ belts and

[———; . l | heimets

' ctual gap
Machine hole is 1/8” J o

Bolt [ !: - Frame <\ Plywood

1/4"x4" “—dd — / ) brace - one
== 22 Flat washers /

each side

FTT IR — —
R :T “*__-_S—- Front axie

Washerh— - / ’
Nut — 1w \\/ //

[
Second nut

tightened
against first

| v N | s
' ; Brake —Q— Nail strip of old | ‘ /
to lock REQUIRED kel N

boits
~ 48" Wheel Base - "




How To Build a Cubmobile

Detailed Instructions:

Cut one 2 X 4 (up to) 60” for main frame.
Cut two 2 X 4's 28" for axles.

Make an "X" on each end of each axle, and drill a hole at each "X" intersect, 6"
deep using a hand electric drill (5/16" wood bit works well).

On front axle 2 X 4:
a. Drill a 5/16" hole on each end near the back for the rope.

b. Drill a 3/8" hole at center of 2 X 4.

c. Attach (2) 2 X 4 safety blocks to front axle. The safety blocks must be
attached to the front axle leaving only a 1/8” gap between the safety block
and the main frame. The picture shows a much wider gap, but the narrow
gap makes the cars much safer by limiting the range of steering.

At front of main frame 2 X 4, drill a 3/8" hole (center 1-5/8" from front).

Attach front axle to frame using 3/8" X 4" hex bolt, 4 washers, and lock nut or 2
nuts. (Tighten enough to allow steering).

Align back axle 2 X 4 at right angle with back of main frame 2 X 4, clamp if
possible. Drill (2) 5/16" holes through axle and main frame. Attach main frame to
back axle using 2 carriage bolts, 2 washers, 2 lock washers, and 2 nuts. If this is

to be a permanent attachment, glue also.
Cut out seat and back rest from plywood.

Cut one 2 X 4 12-14" in length for back rest support. (Bevel slightly about 5

degrees if possible).

10. Attach backrest support (bevel end down) to mainframe using glue and 2 screws

11.

(#8...21/2") at an angle. Position of this support depends on size of boy, have
scout sit on 2 X 4 frame to estimate position.
Cut out 2 triangular shaped pieces of plywood and attach to either side of

backrest support and main frame with glue and screws (#6 1-1/2"). Drilling small
pilot holes helps.

12. Attach seat and back rest using glue and screws (#6...1-1/2").

1



13.

14.

15.
16.

17.
18.

Cut 2 X 2 surveyor's stake to 14-16" at an angle, cover end with rubber using
nails, drill a 3/8" hole through stake at location it will meet main frame.

Drill hole 5/16" into main frame at point to attach brake. Mount brake using 3/8" X
4" lag screw and washer to side of main frame.

Drill and attach seat belt with fasteners of choice.
Attach 6-7' of 1/4" rope to front axle as shown.

Attach wheels using washers and 3/8" X 6" lag screws. (Socket wrench helps).
Design & attach a push bar to the main frame of the vehicle.

Supplies & Tools

2

5 e T

w —
NN NN =2

T U U .

Description: Tools you will need:
(up to) 10" wheels Power drill

2'X4' 3/8" or 1/2" plywood 3/8" and 5/16" wood bit
8' 2X4's Wrenches or socket set
2" X 2" surveyor's stake Screwdriver

3/8" X 6" lag screws (for wheels) Tape measurer

3/8" X 4" hex bolt (for front axle) Wood glue

3/8" X 4" lag screw (for brake) Power or hand saw

5/16" X 4" carriage bolts (for rear axle)
3/8" washers

3/8" lock nut

5/16" washers

5/16" lock washers

5/16" nuts

#6 X 1 1/2" wood screws

#6 X 2" wood screws

6-7' 1/4" rope

seat belt (from salvage yard)

2" X 6" piece of rubber (from old tire)



Brooklyn Council
Go Kart Guidelines

Wheels must not exceed 10 inches in diameter.

All wheels may only be equipped with solid rubber tires.

Car frame is made from 2-by-4-inch construction lumber.

The overall length of the car is a maximum of 5 feet (60”); the wheel
base a maximum of 4 feet (48").

Front & rear axle no wider than 28”.

Use roundhead 1/4-inch bolts to hold frame. Screws are a second
choice. Nails are not suitable, because they may work loose.

All cars must have a seat with braced backrest, so the Scout can
comfortably steer with his feet. A pre-fabricated seat may be used.
Steering is done with the feet, which are placed on the front axle, and by
the hands holding a rope fastened to the front axle.

If threaded axles are used, the nuts must be secured with cotter pins or
wire.

Cars must be equipped with an adequate safety belt securely fastened
to the main frame of the car.

Cars must be equipped with a handbrake with its rubbing surface faced
with a rubber material such as a strip of an old tire. This will stop the car
when dragged on the ground.

Car must be equipped with a push bar securely fastened to the main

frame of the car so that one scout may push another down the course.

During a race, the two 2-by-4-inch blocks fastened 1/4 to 1/2 inch from
the center board will limit the turning radius. (Very important to test this
before the race!)

No extra weights, etc. may be placed on the Cubmobile.

For the Scout's safety, they should wear long pants, a long sleeve shirt,
and shoes that completely cover the feet, and a bike helmet.



